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2008-09 District Competition

Match #2 (Tournament)


These questions are for use in the Virginia High School League’s Scholastic Bowl District Tournament  competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
In a black hole, it is proportional to the surface area of the event horizon.  Represented by S, it is said to be equal to Boltzmann’s constant times the natural log of microstates.  Its change is equal to heat divided by temperature.  According to the second law of thermodynamics, it never decreases.  Name this measure of randomness of molecules in a system or of the unavailability of a system’s energy to do work.


ANSWER: entropy
2.
This pitcher made his major-league debut in 2000, but spent time in the bullpen and minor leagues until 2004.  He went 13-0 in the second half of the 2004 season, winning 20 games and the Cy Young Award over Curt Schilling.  He won a second Cy Young in 2006, winning 19 games and the first Triple Crown since Dwight Gooden. After tossing a 17-strikeout game in 2007, what pitcher was dealt in the off-season to the New York Mets?


ANSWER: Johan Santana
3.
In the 1970s, a Presidential commission recommended fighting this condition by allowing students to take a semester off to pursue a particular interest. Education reporter Jay Mathews has written an article in praise of it, citing that only 35% of colleges rescinded any admissions for the 2007-2008 year. While not a physical disease, this term was constructed in the 1950s as if it were one. What is the tendency toward apathy and inaction exhibited by high school and college students as they approach graduation? 

ANSWER: senioritis
4.
Nathaniel Hawthorne said he was ‘ugly as sin,’ and Louisa May Alcott said his beard would ‘preserve the man’s virtue in perpetuity.’ He wrote A Plea for Captain John Brown, making Brown an abolitionist hero. In opposition to the Mexican War, he refused to pay a poll tax. For two years, he lived in a pond-side cabin owned by his friend Ralph Waldo Emerson. Who wrote about his poll tax experience in the essay Civil Disobedience and his wilderness experience in Walden? 

ANSWER: Henry David Thoreau  

5.
As of December 14, 2008, the latest stable version of this software was 2.6.27.9. AutoZone’s use of it has led to a lawsuit from the SCO Group. SCO also claims that SCO’s System V code was illegally lifted for use in this product. Its origins lie in Richard Stallman’s GNU project. Its ‘flavors’ include SuSE (soo-see), Red Hat, and Ubuntu. Tux the penguin is the mascot of what computer operating system, similar to UNIX and named for its Finnish developer? 

ANSWER: Linux
6.
This book’s protagonists were run out of Weed when one of them was accused of rape.  Foreshadowing occurs when Carlson kills an old dog belonging to the old ranch-hand Candy. The protagonists’ dreams of ‘working up a stake’ and ‘living off the fat of the land’ while tending to rabbits are shattered with the accidental death of Curley’s wife. George Milton and Lennie Small are the protagonists of what novella by John Steinbeck? 

ANSWER: Of Mice and Men
7.
THIS IS A 10-SECOND COMPUTATION QUESTION.  In a fraction in simplest terms, what is 4/9 divided by 5/9, remembering that this is equal to 4/9 times 9/5?

ANSWER: 4/5
8.
New York has observed it annually since 1817. James Madison declared two of them in 1815, but it was not observed annually across the country until 1863. Ones held in St. Augustine in 1565 and Berkeley Hundred in 1619 lay claims to being the first, but a 1621 celebration is usually credited with being the first. In 1939, FDR moved it a week ahead in a hope to extend the holiday shopping season. What is this holiday celebrated on the fourth Thursday in November? 

ANSWER: Thanksgiving
9.
A 1923 silent movie with the same name and director starred Theodore Roberts. Supporting actors in this 1956 movie included Yvonne De Carlo, Anne Baxter, Edward G. Robison, and Yul Brenner. The story of Shiphrah and Puah is not in this movie, which also asserts Seti I fought the battle of Kadesh. More importantly, there’s no manna from heaven in this Cecil B. DeMille movie. Charlton Heston stars as Moses in what movie that ends with God declaring His principal laws on Mount Sinai? 

ANSWER: The Ten Commandments
10.
France relies on this for most of its electrical generation. Artifical structures such as Lake Anna, located in central Virginia, have been constructed to support these installations, while others use nearby water sources rather than traditional cooling towers.  What is this method of electrical generation, related to sites like Yucca Mountain and Three Mile Island?


ANSWER: nuclear power plants

11.
In foreign policy, he executed Operation Frequent Wind and signed the Helsinki Accords on behalf of the United States. In domestic policy, he refused to help New York City get a federal bailout, and his ‘Whip Inflation Now’ campaign proved a failure. He dropped Nelson Rockefeller as Vice-President for Bob Dole after a strong primary challenge from Ronald Reagan. Nevertheless, what President lost his re-election bid to Jimmy Carter? 

ANSWER: Gerald Ford
12.
In 1660, his mistress and his son opened an art dealership for his works, getting around a painters’ guild ban on him selling his work. His The Storm on the Sea of Galilee was stolen from the Gardner Museum in 1990. While The Prodigal Son in the Tavern also depicts a New Testament scene, he also portrayed Old Testament scenes such as Bathsheba at Her Bath and Belshazzar’s Feast. The Anatomy Lesson of Nicolaes Tulp and The Night Watch are secular works by what Dutch painter? 

ANSWER: Rembrandt Harmenzoon van Rijn

13.
The Elizabeth Islands extend off the southwestern part of this peninsula, which was the site of Marconi’s first trans-Atlantic radio transmitter. It contains the Race Point Light, Highland Light, and Nauset Light lighthouses. It also contains the towns of Yarmouth, Barnstable, Hyannis, and Provincetown. The islands of Martha’s Vineyard and Nantucket are off its southern shore. What is this peninsula, the southeastern part of Massachusetts? 

ANSWER: Cape Cod
14.
Discovered in 1917, its most common form has chemical formula C20H30O.  It is found in kale, liver, broccoli, and butter.  Its deficiency can lead to xeropthalmia and night blindness.  Name this vitamin also known as retinoids that is found in carrots and associated with good vision.

ANSWER: Vitamin A
15.
This seven-letter verb comes to us from Latin words meaning ‘to test toward.’ A lawmaker uses this word as a synonym for sanctioning something, such as a treaty or legislation. What is this word that usually means to think well of something, such as a President’s job performance? 

ANSWER: approve
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Steve Jobs was a former CEO of this production company, formerly a portion of Lucasfilm.  What company’s films featured characters like Woody and Nemo?


ANSWER: Pixar
1B.
Mount Aconcagua of Argentina is located in what mountain range situated along the west coast of South America? 

ANSWER: Andes Mountains

2A.
The Pragmatic Sanction of 1713 sought to allow the reign of what woman as Empress of Austria? 

ANSWER: Maria Theresa of Austria

2B.
The Permian mass extinction event marked the end of what era that saw the rise of vertebrates and plants? 


ANSWER: Paleozoic Era

3A.
Miles Archer is the partner of Sam Spade in what novel by Dashiell Hammett about a bejeweled bird? 

ANSWER: The Maltese Falcon
3B.
What African country's crisis was resolved when Mwai Kibaki brought on Raila Odinga as prime minister?


ANSWER: Kenya
4A.
What base replaces thymine in RNA?

ANSWER: uracil
4B.
What word describes a kindness shown to the distressed, the clemency a court can offer, or the seat that was the lid of the Ark of the Covenant? 

ANSWER: mercy
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is the mean of the following six numbers:  14, 86, 27, 53, 62, and 28?

ANSWER: 45
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is the area of a trapezoid with a height of 12 feet and bases of 14 and 16 feet?

ANSWER: 180 square feet
6A.
What unit named after an English physicist is the SI unit of energy?

ANSWER: joule
6B.
The two parts of Henry IV and The Merry Wives of Windsor all feature what fat, cowardly knight? 


ANSWER: Sir John Falstaff
7A.
Write down the following sentence (quizmaster: read slowly) ‘I ran so far away.’ (quizmaster: resume normal speed) Now, restate that sentence in the past progressive tense. 

ANSWER: I was running so far away
7B.
Thomas Dixon’s novel The Clansman was the basis for what D.W. Griffith novel set during and after the Civil War? 

ANSWER: Birth of a Nation

8A.
Testimony where a witness repeats someone else’s out of court statements – even their own – will often be inadmissible under what rule? 

ANSWER: hearsay
8B.
Coming from Greek words meaning ‘overseer,’ what is the third ministerial office within Roman Catholicism, ranking above priest and deacon? 

ANSWER: bishop
9A.
What Civil War general led the March to the Sea across Georgia in late 1864? 

ANSWER: William Tecumseh Sherman
9B.
Who created the first rabies vaccine and developed a method to remove germs from wine and milk? 

ANSWER: Louis Pasteur
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the center of the circle with equation x squared plus y squared minus 10x minus 16y plus 53 = 0?

ANSWER: (5, 8)
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the reciprocal of the sum of the following fractions:  1/18, 1/6, and 1/9?

ANSWER: 3
Third period, 15 toss-ups, 10 points each

1.
In December 2006, Arnold Schwarzenegger broke his right one.  The vastus lateralis, medialis, and intermedius muscles all originate from it.  Parts of it include the linea aspera, adductor tubercle, and greater and lesser trochanters.  Name this longest and strongest bone in the human body that is located between the hip and knee.

ANSWER: femur or thigh bone
2.
It is an Arabic name that means ‘visitor’ and a Swahili name meaning ‘reward.’ The title character’s father, Amonsaro, has started a war in order to free her. Arias in this opera include ‘My hated rival has escaped me,’ sung by the mezzo-soprano Amneris. It ends with the title character dying in Radames’ arms. Although it did open in 1871 in Cairo, it was not written to celebrate the opening of the Suez Canal. What is this opera composed by Verdi? 

ANSWER: Aida

3.
He ordered the waters of the Hellespont whipped when a bridge he built over it collapsed. He stole the statue of Marduk from the city of Babylon. After a rebellion, he named his brother Achaemenes (uh-KAY-meh-neez) the satrap of Egypt. In the Bible, he is named ‘Ahasuerus’ and was the husband of Esther. His predecessor was Darius the Great. The loser of Salamis and the winner of Thermopylae was what Persian Emperor? 

ANSWER: Xerxes the Great

4.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the area of a circle with a circumference of 26 pi meters?

ANSWER: 169 pi square meters
5.
In this language, there are seven ‘speech levels’ used depending on the social status of the speaker and the listener. The suffix seonsaeng (sohn-sang) is attached to someone’s name to show respect. Scholars disagree whether it is a language isolate or an Altaic language. In the 15th century, Sejong the Great devised a writing system for it called hangul. Hantavirus and tae-kwon-do are perhaps the two best-known English words originating in what language spoken in Pyongyang and Seoul? 


ANSWER: Korean
6.
Cyclic ones are known as naphthenes.  The Clemmensen reduction can form them from aldehydes and ketones.  They have no functional groups and are also known as paraffins.  Examples of them include dodecane, hexane, propane, and butane.  The simplest one, methane, has chemical formula CH4.  Name this type of hydrocarbon with general formula CnH(2n plus 2).

ANSWER: alkanes (accept paraffins before mentioned)

7.
This work, set over Easter Weekend in 1300, consists of 100 cantos. Toward the end, the author converses with Saint Bernard after reaching the Empyrean. Virgil takes the author through the first two parts, while Beatrice takes the author through the third part, situated in the nine spheres of Paradise. The Inferno is the best-known part of what work by Dante? 


ANSWER: The Divine Comedy
8.
His artifacts included the sword Joyeuse and an asbestos tablecloth. Fear of his invading armies led the Danish king Gudfred to build the Danewirke  His reign was marked by near-constant war, fighting the Lombards, Moors, Saxons, Avars, and Slavs. He had nine children with his second wife, Hildegard, the fifth of those nine children was his successor Louis the Pious. What Frankish king was crowned Holy Roman Emperor on Christmas Day, 800 A.D.? 

ANSWER: Charlemagne 

9.
Snorri Sturleson said he was the leader of a group of refugees from Troy. With his brothers Vili and Ve, he defeated the frost-giant Ymir and created Earth. He acquired knowledge of poetry by seducing Gunnlod and stealing the mead of poetry. In the Poetic Edda, he hung from the world-tree Yggdrasil for nine days; this ordeal led to his knowledge of runes. He had one eye, and news was given to him by his ravens Huginn and Muninn Who was the ruler of the Norse gods?

ANSWER: Odin
10.
He used Latin words meaning ‘dare to know’ to answer the title question in his essay, Answering the Question: What is Enlightenment? Upon realizing he had not accounted for how humans acquire and process data, he stopped writing for eleven years. He took the concept of duty to create the idea of the categorical imperative. Critique of Practical Reason and Critique of Pure Reason are works by what German philosopher? 

ANSWER: Immanuel Kant
11.
The wild type is in the genus Zizania.  Diseases that affect it include tungro and sheath blight.  Types of it include Jasmine, Bhutanese red, Basmati, Golden, Brown, and White.  Arkansas leads the U.S. in its production.  Name this plant that is a cereal crop often raised in Asia in flooded fields called paddies.

ANSWER: rice
12.
Despite being near fifty, he looked thirty-three; this was the effect of one of his most precious possession. From his first and second cousin once removed, he received a sword named Sting and a chain-mail shirt made of mithril. His cousin Lotho overthrew Will Whitfoot, the legitimate mayor of the Shire. He passed on the Red Book of Westmarch and all his other possessions to his faithful servant, Sam Gangee. Who was the Ring-Bearer in The Lord of the Rings? 


ANSWER: Frodo Baggins
13.
His Vice Presidents, George Clinton and Elbridge Gerry, died while in office. Initially an opponent of the Bank of the United States, he signed the bill authorizing its second incarnation. He rode out to see the Battle of Bladensburg and was nearly captured. His wife, however, was able to rescue several national treasures from being burned by the British. What American President served during the War of 1812? 
ANSWER: James Madison
14.
This city’s mayor from 1993-1997, Federico Pena, later served as the Secretary of Transportation in the Clinton administration. Tear gas was used to dispel a riot in this city after their team won the Super Bowl in 1998, but Rush Limbaugh’s “dreams” of seeing a similar-scale riot occur here last August were fruitless despite 84,000 people packing into INVESCO Field. What is this mountain capital, the site of the 2008 Democratic National Convention?


ANSWER: Denver
15.
They usually contain a kireji or ‘cutting word,’ as well as a kigo, a phrase symbolizing one of the seasons. They descended from the collaborative renga form of poetry, and were revolutionized by 19th century writer Masaoka Shiki. In the 20th century, themes such as urban living and romance have supplemented the traditional nature themes. Matsuo Basho was a master of what poetic form that consists of 17 syllables arranged in a 5-7-5 pattern? 


ANSWER: haiku
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
He turned to prose in the 1930s, writing the novel Not Without Laughter and the short story collection The Ways of White Folks, but his reputation was sealed with the poetry collections Fine Clothes to the Jew and The Weary Blues. His poem, ‘Let America Be America Again,’ was used by John Kerry’s 2004 presidential campaign. He wrote, ‘I bathed in the Euphrates when dawns were young,’ in his poem ‘The Negro Speaks of Rivers.’ Who wrote in his poem ‘Harlem’, ‘What happens to a dream deferred?’

ANSWER: Langston Hughes
2.
Equal to x minus x cubed over three factorial plus x to the fifth over five factorial minus x to the seventh over seven factorial and so on, this trigonometric function is the reciprocal of the cosecant.  Name this trig function that for zero degrees is equal to zero and in a right triangle is equal to the opposite side over the hypotenuse.

ANSWER: sine
3.
It was built in 1907, the result of a subsidy from the British government to keep British ownership of the Cunard Line. It was the subject of an advertisement placed in American newspapers on April 22, 1915, warning Americans that the United Kingdom was at war. Her cargo included small-arms ammunition and her captain had standing orders to ram any surfaced submarines. On May 7, 1915, the German submarine U-20 sunk what passenger liner? 

ANSWER: RMS Lusitania

4.
In 2000, MTV reported this band had turned down a $1 billion offer to do a 100-city concert tour. Their first album, Ring Ring, was released under the four first names of its members. They became famous across Europe with a victory in the 1974 Eurovision Song Contest. However, eight years and two divorces later, they had broken up. In 2008, they once again squashed reunion offers at the premiere of the 2008 movie Mamma Mia! What Swedish quartet had hits including ‘Dancing Queen’ and ‘Waterloo’? 

ANSWER: ABBA
5.
Pollution of them may contribute to global dimming and may be shifting tropical rainfall southward.  As opposed to smoke, it does not have solid particles.  Name this type of suspension that has fine solid or liquid droplets in a gas and is also a type of spray can.

ANSWER: aerosol
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